PRE PUBLIC EXAMINATION - 2021

Class : XII- EM/TM asoficf Spdlued Marks : 70
Computer Science Time : 3Hrs
I Choose the correct answer :
sflurear dlaLaow C5iGO5bHS 6pss: 1I5x1=15

p—

. What will be the output of the following snippet?
Wetreuqpd B-eir Qeuerflui@ eretreor?
str1="computer”
print(strl[ : :2])
a)er b) co c) optr d)cmu
2. Find the output:
eeuerfiuiemL smetorss.
MyList=[25,85,15,98]
print min(MyList)
a) 25 b) 85 C) gk d) 98
3. Which provides authorization commands to access data?
SIeflenesT SIEWGSUSHHTE IEBIESHTTSENS QUPHIGLD SLLEDET 615I7
a) DCL b) TCL ¢) DQL d) DML
4. How many components of SQL commands?
SQL &L emenasefletr samiae e1gsemen?
a) 2 b) 3 c)4 d) 5
5. Pick odd one in connection with collection of data type
NetTeu(HEUCTTEUDMIET 615 STEAlEN CUenS:SEEmeT HILMHESS CaumLBSNE?
a) List b) Tuple c) Dictionary  d) Loop
6. Step by Step proceducre for solving a given problems
LipriLieuina LNgEflememeni SILGHaETEN E\FWweopepmaEerieit OSMESLIL
a) Program(iBued) b) Pseudocode(Gun- &@mwpenm)
c¢) Flowchart(umieyuLib) d) Algorithm(emsm\pemn)
7. Pick odd one:
GamurLems CaMHESESS:
a)INSERT  b)DELETE c¢)UPDATE d) TRUNCATE



8. Inhow many ways programs can be written in python
eoLSSTenT Bremed ergsement aufiserled 61D (LplQu|D?
a)2 b)3 c)4 d)5
9. Whatis the output of the snippet?
etreugpLd Bo-6ir Oeueflui® eretrenr?
a=135
while(a<=20)
print(a/a,end="")

a=atl]
a) 151617 18 19 20 b)20 19181716 15
c)0000000 dj1 11111

10. The python file mode opens a file for exclusive creation
Seufiggeunmen LepLLhesns Camifener $m&s LWETLELD wWpeom 618(?
a)w b) x c)b d)a
11. This is the theoritical performance analysis of an algorithm
epMlpemnuiest GHM UM (G OFWeOSmeT SHigLiienL ufleomenr LGLLMLIEY 6187

a) Prior1 Estimates(qpsiterm) odni@eer)
b) Posteriori Testing(Setreom)) Gansemeuasi)

c¢) Space Factor(@Lsasmmeufl)
d) Time Factor(@mysasmewfl)
12. In csv.register dialect(), Which of the following parameter is used for
removing whitespaces?
csv.register _dialect()-6d emhs Demym OeubmiLiussner Bas LWETLGSEDS?
a) removespace b) skipinitialspace
c) skipspace d) removeinitialspace
13. plot is a type of plot that shows the data as a collection of points.
6UemT6Y 6TI60TLIG| STeysemen Lsnerflseaflenr 6\sn@UUMS: ST GAMS?
a) Line b) Scatter c) Box d) Pie
14. ADT can be implemented using
ADTopens QLN (GRAEITEVEGE LT

a) singly linked list(emhson @enesrgainre. LLiuied)
b) doubly linked list(@m swL. SemewraasiirL LLQuied)
c) either A or B (A Sisoeogy B)

d) neither A or B ( @presor@BLilevsmen)
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Match the following :
EWINHSSHIS:
1) DELETE -1)DDL
2) DROP -11) DQL
3) SELECT -111) TCL
4) COMMIT -1v) DML
a) 1-1v, 2-1i1, 3-11, d-1 b) 1-1v, 2-1, 3-11, 4-i11
c) 1-1, 2-1v, 3-111, 4- 11 d) 1-1, 2-111, 3-1v, 4-11
Answer any Six of the following questions:(Q.No.24 is Compulsory)

aaomabuad Ghn danssemss dlaLwetl: 6x2=12
What is a subroutine? - gyememor Byed eretTmmed eteiten ?

Why scope should be used for variable. State the reason.

DTS EHSHES STSDHTS EUEDIEILIEENsD LILSTLBSSH Couston(BD? SMIETD Sam)s.
What are the Key features of Python?

LG Smevfledt HAPUILILDSFRIGET WITeneU?

Define : Control statement.

SLOUUTL(D SLLEMLDLIL| 6T60TMNED 6T60T60T?
Write the different types of function.
QFWDHFaMIEIT EUEDSHHEWETT 61(LDSIS.

How will you access the list elements in reverse order?

Liste_piiysener NeirGennég auflensuiieo Semeosiipns: sTeuaum) iew@eumil?
What is data consistency? MsgeyBeneogseitenio erestmed ereoreur?

Write the difference between table constraint and column constraint?

Al Leuemenor SLELILMCIRMHESLD, OmGeuflens sUEUUMLIQHE@LD 2 66
CaumILIMBSHEWET 61(LD&IS.

What is the advantage of declaring a column as

“INTEGER PRIMARY KEY™
yeosews “INTEGER PRIMARY KEY” eteor SinflefllILIg6on H60T6MLD 6T60T60T?

Answer any Six of the following questions:(Q.No.33 is Compulsory)
aomabuab Sn damsserss aLwedl: 6x3=18
Differentiate: Algorithm and Program.

CaumLBGSSIS: BMLPEDD LDHMID Breo.
Differentiate PYTHON and C++

eOLISSTeNT HMID H++ CoumiLBSS5Is.



27. Write a Python code to check whether a given year is leap year or not.
OBMBSHSULLL QUHLLD 601 6UHLLIDT SEDEMEOWIT CTETLINS BFTHe@D 6nLSSTeT
Boemeo 61(LD&)5.
28. What will be the output of the given python program?
SpaevorL. ewLSGNe Breyssnen eeueflui® wmg?
strl =“welcome”

str2 = “to school”
str3=strl[ :3] + str2[len(str2)-1: ]
print(str3)

29. Write a program to create a mirror of the given string. For eg ‘wel’=lew’.

QBMBHSLLLL FTSHEMETS FHENEOHDNS 61D BI6L 6IWpEHISH. 61.&m. wel'=lew’.
30. What will be the output of the following code?

etteupd @Mlpemmuilstt OeuefluS® eretresr?

list = [2**x for x in range(5)] print(list)

31. Whatare class members? How do you define it?

BHSID 2 MILILISHET ETEIMTE0 ETEITEI? HHEWET TEUGUTI) CUSHIUIMILILITUI?
32. Write a program to display

Netreugpid OeuerfluiemLs QM Brsmeo 61LDSs.

A

A B

A B C

A B C D

A B C D E
33. What is Pie Chart? How will you define 1t? Give Example.
QUL 6UEDJLILLD 6T6TIMIMTED TN ? SISHEWET 6TEUEUTT) CUEDIULIMILILITUI?ET.ST S(Hs.
IV Answer the following questions
Seraumd clamésenss eblaLwerd 5x5=25
34. What are called Parameters and write a note on

(1) Parameter without Type (1) Parameter with Type

61E\LISY(HLIS6IT ETETTIDITED 6T6ITEUT?
1) SIQEIEDS G060IMS SHETL|IHEHS6T
11) SIQEUEHS HENTL|IHHSHEIT
(OR/Siev605)
Explain the Selection sort algorithm with example.
CaMBE15BSGLD auflenENSSD EIETDTED 6160T60? 61.&iM.-2 L 60T efileurfl.



35. Explain input() and print() functions with examples.
input() womib print() OFwHsamiseT LD elena@s.
(OR/Sievevg)
Explain the scope of variables with an example.
LMUTEET EUETIEILIEOEMEDSHENET 6T(BSHGISGHTL(BL6tT eflsurfl.
36. Explain the different set operations supported by python with
suitable example.
swLIGSMevfleo 2 e LioGeum) SCt OFWHUMBSHEmET EILIMHSSHLDTEUT 61.5IT.-
© et 6fens:@s.
(OR/Sisvevg)
Explain about string operators in python with suitable example.
LGS Tevfled LWETLI(BLD &I QFWHGSHIHEDeT SHSHS 61.5M.-2_L6iT 6flens@Gs
37. Consider the following employee table. Write SQL commands for
the gtns.(1) to (v).

SDeTEID Lswflumeri SiLLeuenemienl &heHe0 6\&Meui® LetTeumLD
sfleoTnaaEHsHE eflemLuwiedl.

EMP CODE NAME DESIG PAY ALLOWANCE
S1001 Hartharan ~ Supervisor 29000 12000
P1002 Shaji Operator 10000 5500
P1003 Prasad Operator 12000 6500
C1004 Manjima Clerk 8000 4500
M1005 Ratheesh Mechanic 20000 7000

(1) To display the details of all employees in descending order of pay.

Slewer1sg Lswflwnenigeflent efleugmisemen Sium&eT LMD
glouemmseaflest @nmi@ euflensuileo snewrilss.
(1) To display all employees whose allowance is between 5000 and 7000.

5000 wp&ed 7000 euemy LMD Dienentsg Lievoflwimeniiaerflest
efleuImhIGHEmerT SMeuurLilsHhs:.
(111) To remove the employees who are mechanic.

Mechanicluenaemw snimbg Lenflwneriseme H&s.
(1iv) To add a new row.

Q@ YHw euflemssmw 2 ([mHeunss.

(v) To display the details of all employees who are operators.
operatorsfensenw g Sienensg Leflwnerisefer eeugmisener
SHMEuoTLI&E.

MOR/Si606051X



38.

Wirite the rules to be followed to format the data ina CSV file.
CSV Ganlifeyeiten sremer sugeusmDLILIGNES LI6tTLHn Geuetroul
sl pemmaemen 61(pgs.
Consider the following table GAMES. Write a python program to display
the records for question (i) to (iv) and give outputs for SQL queries (v)
66U BLD Sl LeUnETEDW 61(BSHSISH6\STNI(B LIehTeudhD S
CaeTellHEHSHHTEN EHEITEUEMED  6T(LD&IS.

Table : GAMES

Gcode Name GameName Number Prize’ ScheduleDate
101  Padmaja Carom Board 2 5000 01-23-2014
102 Vidhya Badminton 2 12000 12-12-2013
103  Guru Table Tenmis 4 8000 02-14-2014
105 Keerthana Carom Board 2 9000 01-01-2014
108  Krishna Table Tennis 4 25000 03-19-2014

(1) To display the name of all Games with their Geodes in descending order
of their schedule date.
Siewensg Games womid Geodess@hd -601 @omiGeurflemsuileo
udeysenet LSl aylb.
(11) To display details of those games which are having Prize Money more
than 7000.
abs elewemum Gaeafleor Lfl&6isnens 7000-6iL SiPHsLONS
2 _emenCHm Sigewewr 6leuerludiLeyLb.
(111) To display the name and gamename of the Players in the ascending
order of Gamename.
eflememun-@ efigisefleor QLwim wHMID efeemumLigedt
auwsener emeuflemsuiieo LSeflLayib.
(1v) To display sum of PrizeMoney for each of the Numberof participation
groupings (as shown in column Number 4)
RN ellememun (s el sfipnasepsanen Lflas6smans
SiLmBW udasemer SHeoguilLayd.(deug LsosHeo L _emsmeumm)
(v) Display all the records based on GameName
GameName SugliuenLuied iewengg LHeysenenuid HenguiLeyid.
MOR/SieoeogyX
What are the key difference between Histogram and Bar graph.
afls@LISImD OHMID LML suenIULSHDGSLDTe Caupun@senen efleurfl



